Algebra

1.

iv)z=12=-1
v)z=2x=-T

vi)x =T,0=—

vil) z = —3/2,2x = 3/2
viil) = 0,2 =4/3
i) r=1/2,2 =
X)r =—2,0=—1

xi)z =0,z =

xii) x =y, x = —y
xiii) ¢ = 2,0 = —2
Xiv) z = =13,z =
xv)r=—-4/3,x = -1
xvi) z = —2

xx) r =2y/3,x = —2y/3

xxii) x = 0,2 =6/5
xxiil) x = 1/3,2 = =2

xxvil) ¢ = =10,z = —1
xxviii) x = 0,2 = 1/3
xxix) r = —2,x =6

xxx) a = 5b/4,a = —5b/4
xxxi) t = —4,2 =6

xxxil) x = 0,0 = —2,2 =2

xxxiii) 62% — 5r —4 =0

xxxviii) o = £+/3/2

xxxix) ¢ = 1/4,0 = —7/2
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(xxi) z =4/3,2 = —1/2
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(xl) z=—-11,2 =10

(xli) x = —1/2,2 =4/3

2. (i) = = 5.46,7 = —1.46
(i) 2 = —.61,2 = —4.89
(iii) @ = 3.21,2 = —1.71
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(iv) 2 =2.72,2 = .61
(v) x =.31,z = —.81
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